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Time: 10 Minutes | Paper Math 6 (T-1) |  Total Marks: 10 |

| 3rd Month, Ist Week, 5th Day | Exercise 6.4 Q # (1, 2, 3) |

Q.1. Choose the correct options. 1x3=3) - /.fl?"'lg,«lﬁw/;

(i) x+x+x+xisequal to: eslixtxtx+x

(a) 3x ) 4x © X ) x4

(i) 3p +4q + 8p —3q is equal to: £3p +4q + 8p —3q

of
N

(a) Ilp_q (b) 12p+q (©) Ilp+q (d) 11p+2q

(iii) (48xy — 4z) — (35xy +32) = ?

@] 15xy+7z |®)| 13xy+7z || _13xy_7z |@)]| 13xy_7z

Y ST IS Y 1)

W Answer the following questions:

Q.2. Add the following terms. (1x2=2) - YL Cf:'/r}/gf“ 3109
()  98pq, 2qr, 23rs (ii) 4xy, 23xy, 3xy

Q.3. Add the following expressions. (1x2=2) - yf U”fu)”g}“ 3O
(i) ia+%b,%a 1y (i) 6p, 2q, 3q + 9r, 41— 6p

Q.4. Solve: (1x3=3) g /S

(i)  Subtract 35xy + 3z from 48xy — 4z.
_Q/Q}].Lu:48xy - 4Z/35xy +3z

(i) Subtract Lo +3 m_g from—Lyo+Lmis.
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